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1 The factors of A times C must add to B.

True
False



2 The stard form of a quadratic expression is
ax’ +bx+c

Yes
No



3 Factor completely or Solve
30xy — 45x
A 5x(6y — 9x)
B 15x£2y —3x
c 15x (6y—9



4 Factor completely or solve
5b* +40b° +80b>
A 5(b° +4b)(2b2 +4b)
B 50 (b+4)
C 5p* +206° + 200> + 80b°
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5 Factor competely or solve
9x* —64)°
A (3x—8y)(3x—8y)
B (3x—8y)2
C (3x—8y)(3x+8y)



6 Factor completely or solve
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7/ Factor completely or solve
~19x° +76x =0

A x=12,0
B x=14
C x=12
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8 Factor completely or solve

2p° =12p+54
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A x=19

B x=-3,9
C x=-3,9,0
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